F~SH 7 FE)

EEO%K - MR | [H28|15 H20 | -2F H25 | 823y ROEE - HBR | H07 | 92 THROFE | HI5| 2
RO6 | 5 H27 | H18| <L H24 | 8a+5b+3 Hos | =12 HOS | 622 RO7 | - H14 |8
RO5 | 7 H26 | 24 H17| -2 H23 | 523y -8 Ho4| £727 HO4 | 6ab RO6 |4~ 3 H13|5
RO4 | -9 H24 | -3 HOT |25 H22 | 4z+y -6 Hog| SEtIL HO2 | 62y RO | -6 H12|7-23
RO2 | -3 H20 |4 DB B/BR | |H21 | bredy3 Ho2 | #7411 HOT | 62 RO4 | 55 ~9 H11 |4
H30 | 9 H18|-3 RO6 | 6 H20 | ~5a+3b BIER O TR BIEXOMEA | [R03|8+4V6 H10 | 4
H29 | -5 H17 | 40 H29 | & H19 | 4x-2y+23 RO7 | 10 H23 | 4a%b RO2 |17 HO9 | -5 +6
H25 | 5 H15 | 12 H22 | H18 | 52— 8y+3 ROG | 1827 H20 | 15ab H31|11- 2 HO8 | /6 1
H23 | -7 H13|-6 H21 | -5 H17 | 2a-9b+10 ROS | 7% ZIEN - IR | H30|5 HO7 | 9+2.5
H22 | -5 H11 {30 VR H16 | 52 -3 RO3| 6% RO4 | 3z-2y H29 | /3 HO6 | 5./3 -7
H21 |7 H10 |6 H30 | -12 H16 | 4z+9y RO2 | 22 H31 | -3a—2b H28 |4+ 3 HOG | 11-4.Z
H19 (-7 HO8 | -18 H25 | 4.5 ROFE (98 | H30| -6 H28 | 22—y H27|6-7/3 HO4 |4+6.3
H16| -3 HO6 | -7 H23| -1 RO4 % H29 | -2y H25| 3a-2 H26 | 2./3 HO3| 4.2
H14| _, HO4 | -28 H19| -0.08 RO3 %x—3 H27 | -8b? H21 | 4a +b H25 | 2 HO2 | -1
H12 |13 Ho2 |4 ROFHE - HESHEA| H14| 5L H26 | 92y H17|~Za+1 H24 |8 Hot | 7
Ho9 | -2 HO1| ~35 ROB | 7+y~3 H13| 12713 H24 | 4z H15 | 3a +2b H23|11-5.2 ROEHE - B
Ho7 | -6 S -t | [R02|6a-7 Hi2| 2228 H22 | 1252 H14 | 563 H22 |3+ 3 RO7 | 202+ 2r
HO5 | -3 Ro7 |2 H31 172+ 7 HI1 | 2251 H19 |2 H11 | 4a-3 H21 |32 ROG | 2&° ~6x—11
HO3 | -5 H31 | 47 H30|a-2b+15 H1O | £22 H18 | 9ab? HO9 | 7y -2 H20| -6+5.2 ROS | 2¢” ~6x—13

ESOHK - Tig | |H28| § H29 | 725y +2 Hog | L5t H13 | 1267 HO6 | 66 -3 H19|17+9.3 RO4 | 24” +10a+15
RO7 | -1 H27 |4 H28 | -2a +3b Hog | 112423 H12 | 12ab* HO3 | 32 —4 H18|—4+6.2 RO3 | —6x+25
RO3|-15 H26 | 1% H27 | -5+ 6y Ho7 | £H2 H10 | 8a2 SIENXXBIER | H17|10-2/6 RO2 | -11z+8
H31 | 4 H24 | 4L H26 | 3a-+5 Hoe | 412 HO8 | 12ab H16 | 22~ H16|9+2,5 H31 | 222 +82-9
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